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1 |deiEE 2.3E-1 5.8E-4 0.2
2 |BEHRER 5.4E-2 8.0E-5 0.1
3 |AFE 5.7E-2 9.7E-5 0.1
4 |EHE 1.1E-1 2.4E-4 0.1
5 |fMEE 4.1E-2 6.8E-5 0.0
6 |ILEE 6.0E-2 1.6E-4 0.1
7 |RER 9.7E-2 1.9E-4 0.1
8 |ZWE 1.8E-1 1.2E-1 0.3
9 [HHARER 1.1E-1 2.9E-4 0.1
10 |HER 1.1E-1 2.0E-4 0.1
11 [&HEE 3.4E-1 1.3E-3 0.3
12 | FER 2.1E-1 5.3E-4 0.2
13 |[RREER 6.6E-1 8.7E-3 0.7
14 [#E)IE 3.4E-1 6.7E-4 0.3
15 |#iBg 1.1E-1 2.3E-4 0.1
16 |EWE 8.5E-2 2.7E-4 0.1
17 [RINE 5.5E-2 1.6E-4 0.1
18 |fBHE 4.6E-2 9.1E-5 0.0
19 [ILRE 5.9E-2 9.2E-5 0.1
20 | RER 1.5E-1 5.2E-4 0.1
21 [IFRER 1.2E-1 3.5E-4 0.1
22 |E%MER 2.0E-1 3.4E-4 0.2
23 |BHMIR 3.8E-1 1.3E-3 0.4
24 |ZER 8.7E-2 1.3E-4 0.1
25 [HER 6.3E-2 1.2E-4 0.1
26 |HEAT 1.2E-1 1.0E-2 0.1
27 | KBAF 5.3E-1 1.2E-3 0.5
28 |EER 2.8E-1 4.9E-4 0.3
29 |=RE 4.2E-2 4.0E-5 0.0
30 [FIFLE 3.9E-2 2.5E-5 0.0
31 |BIE 2.4E-2 3.6E-5 0.0
32 |BRE 3.4E-2 4.7E-5 0.0
33 |RILE 9.5E-2 1.3E-4 0.1
34 |LBER 1.4E-1 2.8E-4 0.1
35 (AR 6.2E-2 7.5E-5 0.1
36 |EER 3.1E-2 4.0E-5 0.0
37 |BNE 4.9E-2 6.8E-5 0.0
38 |ERE 5.6E-2 6.8E-5 0.1
39 | =58 3.3E-2 3.8E-5 0.0
40 |[EREE 2.3E-1 5.3E-4 0.2
41 [EBE 4.3E-2 8.9E-5 0.0
42 | RIZE 5.3E-2 8.0E-5 0.1
43 [RERIE 6.8E-2 1.5E-4 0.1
44 | K78 5.3E-2 4.5E-5 0.1
45 |EIBE 4.2E-2 2.0E-4 0.0
46 |ERBE 6.9E-2 0.1
47 | HiEE 4.3E-2 0.0
2E 6.1E+0 1.5E-1 6.2
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